N = 0l & At & M A

20208 E XA 33 Lwts|H =
=L
X0l OHE MHIA HZ(HED)
sEX0 FYY 2% (B9 ®R)

SAH-AH -2 (SA) - HREAY - BES 01l Ao I AR Husz
| 1,855,406 1,846,402 9,004
0l OIE MHIA HMZ(2AH) 453,268 470,324 A17,056
SEF0 A4 29 453,268 470,324 A17,056
FOISA X2(EAH) 125,582 125,532 50
301 YBtE A2 124,582 124,532 50
0 EH-0F - ¥ES2AZ 121,630 121,580 50
Oet& g A 50,0008 * 71 3,550 3,500 50
HH2Y U 22(EAHH) 82,015 105, 121 ~23,106
101 @124l 34,085 58,091 A24,006
04 JI2ZHI2ERNSES 34,085 58,091 224,006
OQ#etX MY I 22lxH 22y 25 0% 0 20,616 ~20,616
O4lHEE 2 3F o 0 3,390 A 3,390
201 LBt A H| 37,930 37,030 900
02 B22Y9H| 25,446 24,546 900
ogsz 2,700 1,800 900
-Eg2 2 1,300,0008 = 1CH 1,300 400 900
AL L Y SXZE(REH) 226,671 220,671 6,000
201 LEre 9] 49,740 43,740 6,000
02 2229 H 47,500 41,500 6,000
OAER X HI 2& 9,000,000 9,000 3,000 6,000
QIEHOIZA XN (RHLH) 1,200,000 1,180,000 20,000
ZEU=E NGNS (BAH) 1,200,000 1,180,000 20,000
ARE FOSAAY(RAH) 1,105,000 1,105,000 0
401 Al 2 HIZ 20| 1,105,000 1,105,000 0
01 A& H| 1,100,000 1,100,000 0
AF SREXZAACHAMAILH A 15,000 0 15,000
QAN SE2EIZU 2 H Y Z A4 A Al &K
23 10,200 0 10,200
OHA HHL2AHI2AMA2HAALH2A 6,300 0 6,300
QOEALH =X 528 8,980 0 8,980
OAF2 OISt 0tA 25 M 2] (600m)
ZX 24,911,000 24,911 30,000 25,089
OHlES £ 282 (50m) ZA 5,600,000 5,600 15,000 A9,400
OHIS OtAR2% M 2] (700m)
23X 31,914,000 31,914 35,000 A 3,086
OHI= 0r2 et T (100m) 3F ok 0 25,000 A 25,000
OHI= Al HH 2= 2 & H] (90m) 30,000 0 30,000
OEY 282 5,800 0 5,800
OHY SMSTGHEAEH 14,300 0 14,300




A 2HH
HE: FOIBOEA NAWB(HLH)
el BEUYE KGNS (HAH) (SH2:EH)
2A-F3H-H2A(3) - MY - BES O] Ak I & Hns2Z
OBHd Hi4=2 =l (90m) 23 12,250,000 12,250 30,000 A17,750
OWH DFS o2 X & (100m) 23 0 0 35,000 35,000
OUx oteaag4 14,100 0 14,100
OUHl szAAT2HY 15,000 0 15,000
O83= OtA 2 M 2I((1000m)
23 62,164,000 62,164 45,000 17,164
OX= B2 FH|(120m) 33X 5,866,000 5,866 20,000 A14,134
OXN= s2Z % L A AHH I (100m) 20,000 0 20,000
OXI= AHSH 2 2= (40m) 3F 0¥ 0 20,000 20,000
ONU s2 =& 2 Hi=2F4l(80m)
AH 17,731,000 17,731 30,000 A 12,269
OXIW &%= = =l (50m) 12,000 0 12,000
OXU 224 2,530 0 2,530
OXU 242 FHl(60m) 8,000 0 8,000
OXU T2 2(50m) aAF 0¥ 0 25,000 A25,000
OXILH BHZ=2 FHI(100m) a8 0 0 20,000 20,000
O s =2 ZZ(160m) A 24,017,000 24,017 30,000 A5,983
OA & Bi =2 B HI (150m) 23 20,000,000 20,000 25,000 A5,000
OE8 D222 0tA 2 M 2I((600m)
2H 41,502,000 41,502 30,000 11,502
OE8 OFAZZ M 2I((1000m)
23 50,930,000 50,930 50,000 930
OE8 +2WAXI(14!) A 14,200,000 14,200 15,000 A 800
O&S OtA2S M 22I((800m)
A 29,655,000 29,655 40,000 A 10,345
O8s =2 XA (60m) 3 0¥ 0 30,000 30,000
O8ts =22 & 2 AFH XY (60m) 31,644 0 31,644
O22 HiE=2F N4 X (150m)
23 14,000,000 14,000 20,000 6,000
OAIE OtA 2% M 27((1000m)
23X 35,181,000 35,181 45,000 19,819
OANE =2 F(150m) 23 30,000,000 30,000 15,000 15,000
OAL2E ti 42 4l (50m) 23 5,320,0002 5,320 10,000 14,680
OO0I2 OtA2S M 2I](500m)
23X 23,878,000 23,878 30,000 16,122
OAMN 222X 2 HI=2F 4 (70m)
A 25,000,000 25,000 30,000 A5,000
O2AM 28S s2ZF(130m) 23 0 0 28,000 A28,000
QA QEE HISREH Y MHEHS 14,200 0 14,200
OS2 A B %= 2 &I (70m) A3 12,000,000 12,000 15,000 A3,000
QAA S22 EHH| (40m) 9,600 0 9,600
OsS 42 FHl(250m) A 11,444,0002 11,444 25,000 A 13,556
OUSs H==o 6,900 0 6,900
OUWSE == ZE(120m) 23 33,278,000 33,278 27,000 6,278




PN 2EHH
MM ZOHOZA XL (EAH)
Chel: REUS KUNL(RAHM) (St
2 A .2 (S H) - HEMNY - BHES Ol A o4 I AR Husz
OWS OtAR2S M 2] (400m)
A 22,540,000 22,540 30,000 AT7,460
Os 023 2HJtalata x| (14
ZA 9,600,000 9,600 10,000 A 400
OAsF =2 ZX(150m) 30,000 0 30,000
O2ZS OtA =S M 22| (400m)
AE 17,467,000 17,467 25,000 A7,533
OREesdIl2a NN 14,100 0 14,100
O &2 A HI(120m) 2 12,033,000 12,033 20,000 AT,967
OARZAELL(14]) 23X 31,465,000 31,465 10,000 21,465
OWS ti2=2 Hdl (L=50m) 3F ok 0 15,000 A 15,000
OUS tH+:2FH 2 T2 AtHEH| 14,200 0 14,200
OHI= HH2=2F4] (L=60m) Z A 14,000,000 14,000 15,000 A1,000
s HH&2&H| (L=60m) 3F ox 0 15,000 A 15,000
OAs HH4+2 Y & MEEA 14,200 0 14,200
II2E SAA2I(RLH) 95,000 75,000 20,000
401 Al Y2 20| 41,000 21,000 20,000
01 Al&H| 41,000 21,000 20,000
SEINZE SAUES Z3 35,000,000 35,000 15,000 20,000
BHNSHAH (BAH) 202,138 196,078 6,060
oldedy|(aAd) 123,358 117,358 6,000
QIAHI(EAHH) 123,358 117,358 6,000
101 @124l 123,358 117,358 6,000
03 RINAAL22IE S 123,358 117,358 6,000
O&d0lse 123,358 117,358 6,000
-ole el (2y) A= 123,118,000 123,118 117,118 6,000
I=23H(2L8H) 78,780 78,720 60
Jl=2dH (24 H) 78,780 78,720 60
201 LBt A H| 26,652 26,592 60
01 A2 22l bl 21,732 21,672 60
O A H| A 60,0008 * 18 * 116Y 6,960 6,900 60




